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Question Number : 1 Question Id : 864351271 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



For an electromagnetic wave travelling in free space, the relation between average energy
densities due to electric (U,) and magnetic (U, ) fields is :
Options :
{1 =7l
864351811. ¢ m

Bl =275
864351812. ¢ m

Ut‘. 2 UI.'I'I

864351813.

1< 1T
864351814, © -

Question Number : 1 Question Id : 864351271 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

U ]
864351811. © m
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864351812. °©

864351813.
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864351814. < ™

Question Number : 2 Question Id : 864351272 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The volume V of an enclosure contains a mixture of three gases, 16 g of oxygen, 28 g of
nitrogen and 44 g of carbon dioxide at absolute temperature T. Consider R as universal gas
constant. The pressure of the mixture of gases is :

Options :

RT

v

ra|

864351815.



864351816, Vv

864351817, V

88RT
864351818. Vv

Question Number : 2 Question Id : 864351272 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 864351273 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



For changing the capacitance of a given parallel plate capacitor, a dielectric material of

dielectric constant K is used, which has the same area as the plates of the capacitor. The

thickness of the dielectric slab is %d , where “d’ is the separation between the plates of parallel
plate capacitor. The new capacitance (C') in terms of original capacitance ((,) is given by

the fcr]lowing relation :

Options :
o= & o
864351819, K+3
e 2 41‘{.{:“
864351820. '
- 2
catle,
864351821, 4K
oo itk
864351822,

Question Number : 3 Question Id : 864351273 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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864351820.



864351821.

864351822.

Question Number : 4 Question Id : 864351274 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The velc}cit}r-diqpiacement graph descﬁbﬁ‘ng the motion of a biq,-’dc- is shown in the [ igure.
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The acceleration-displacement graph of the bicycle’s motion is best described by :
Options :

a(ms _1] T

18 Ferrrem
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864351825. 1
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A
P 200 400  x(m)
864351826.

Question Number : 4 Question Id : 864351274 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 864351275 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A block of mass m slides along a floor while a force of magnitude F is applied to it at an angle
B as shown in figure. The coefficient of kinetic friction is py. Then, the block’s acceleration
‘a’ is given by :

(g is acceleration due to gravity)

Options :

F F
—cosb }_I.K{ g IBJ
864351827. M L

].I. l{ l; ) %
—cosb + f_l.K{ g — —sinb
m m

864351828.
F F
—costh — pgleg + —sinb
864351829, M B /
F F
—cosl) — pg| e — —sinb
m

864351830. M

Question Number : 5 Question Id : 864351275 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 864351276 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A bar magnet of length 14 cm is placed in the magnetic meridian with its north pole pointing
towards the geographic north pole. A neutral point is obtained at a distance of 18 cm from
the center of the magnet. If B;;=04 G, the magnetic moment of the magnet is (1 G=10"1T)

Options :

1
864351831. 280]T

X 1
864351832, 2-880x10° ] T

1
864351833. 280 1E

9] G 1
864351834, 2880 %107 J T

Question Number : 6 Question Id : 864351276 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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i =1
864351831, =080 ] 1
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864351832, =S80 X107 ] 1
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864351833, 2880 | T

2880x103 7!
864351834.

Question Number : 7 Question Id : 864351277 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The ar.glc- of devialion t_'hmugh a prism is minimum when

(A) Incident ray and emergent ray are symmetric to the prism
(B) The refracted ray inside the prism becomes parallel to its base
(C) Angle of incidence is equal to that of the angle of emergence
(D) When angle of emergence is double the angle of incidence
Choose the correct answer from the options given below :
Options :

R64351835. Only statements (A) and (B) are true

864351836. Statements (A), (B) and (C) are true

264351837, Only statement (D) is true

864351838 Statements (B) and (C) are true

Question Number : 7 Question Id : 864351277 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 864351278 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An RC circuit as shown in the figure is driven by a AC source generating a square wave. The

output wave pattern monitored b}? CRO would look close to :

ne oFe

Options :

864351839.



’/_,.,

864351840.

r ,
qeravd
864351841. ~ -V

2 VA VAN

Question Number : 8 Question Id : 864351278 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 864351279 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A block of 200 g mass moves with a uniform speed in a horizontal circular groove, with
vertical side walls of radius 20 cm. If the block takes 40 s to complete one round, the normal
force by the side walls of the groove is :

Options :
864351843, V0314 N

864351844, 9859104 N

g 3
864351845, 028X 107" N

864351846, 2-899x107 = N

Question Number : 9 Question Id : 864351279 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

864351843, U-0314 N
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864351846, 2899 x107= N

Question Number : 10 Question Id : 864351280 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In thermodynamics, heat and work are :
Options :
864351847. Point functions



864351848. Path functions

864351849 Intensive thermodynamic state variables

R64351850. Extensive thermodynamic state variables

Question Number : 10 Question Id : 864351280 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 864351281 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The maximum and minimum distances of a comet from the Sun are 1.6 x10'? m and
8.0 x 10'% m respectively. If the speed of the comet at the nearest point is 6 x 10* ms 1, the
speed at the farthest point is :

Options :

3
864351851, 2 X107 m/s

3
864351852, 0 X107 m/s

864351853, 0-0x10° m/s

3
864351854, 22107 m/s



Question Number : 11 Question Id : 864351281 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

864351851 1.5 103 m/s

! 3
264351852, 30x10° m/s

3 i
264351853, 6.0x10° m/s

= '}3 )
g64351854, T2 X107 m/s

Question Number : 12 Question Id : 864351282 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Four equal masses, m each are placed at the corners of a square of length (I) as shown in the

[ igure. The moment of inertia of the system aboutl an axis passing, thmugh A and pa.raﬂ&] o
DB would be :

D I ¢
m|- Tm
! o i
m* b
A [ »B
Options :
864351855. =

864351856. V3 mi?

864351857, O M-



864351858, M

Question Number : 12 Question Id : 864351282 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
2 mP?
864351855.
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3 ml
864351856, ¥~ M
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864351857.
864351858, M

Question Number : 13 Question Id : 864351283 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A 25 m long antenna is mounted on an antenna tower. The height of the antenna tower is

75 m. The wavelength (in meter) of the signal transmitted by this antenna would be :
Options :
864351859, 200



864351860, 200
864351861, 100

864351862, 100

Question Number : 13 Question Id : 864351283 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
200
864351859.

864351860, U

400
864351861.

100
864351862.

Question Number : 14 Question Id : 864351284 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The stopping potential in the context of photoelectric effect depends on the following property
of incident electromagnetic radiation :

Options :
864351863, | reduency

864351864, mplitude

Fritishist
864351865, | rensity

864351866, | hase



Question Number : 14 Question Id : 864351284 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 864351285 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Time period of a simple pendulum is T inside a lift when the lift is stationary. If the lift moves

upwards with an acceleration g/2, the time period of pendulum will be :

Options :
/L,
864351867. V3
3
864351868. 3T
3
2
864351869.

.

864351870. MI 3

Question Number : 15 Question Id : 864351285 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 864351286 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A plane electromagnetic wave of frequency 500 MHz is travelling in vacuum along y-direction.

L
Ata particular point in space and time, B = 8.0 % 10 & ;T . The value of electric field at this
point is :

(speed of light=3 x10% ms 1)

A, i M,

x, i, z are unit vectors along x, y and z directions.
Options :

M x V
864351871, —+x V/m

M
864351872, =6 x V/m

M
864351873, =+ x V/m



s64351874, =0y V/m

Question Number : 16 Question Id : 864351286 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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24 x V/m
864351871.

26 x V/m
864351872.

24 x V/m
864351873.

26 y V/m
864351874.

Question Number : 17 Question Id : 864351287 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A conducting bar of length L is free to slide on two parallel conducting rails as shown in the

figure
| |
A :
R, < S
< }
| x X I
]

Two resistors R, and R, are connected across the ends of the rails. There is a uniform magnetic

field _P: pointing into the page. An external agent pulls the bar to the left at a constant
speed .

The correct statement about the directions of induced currents [, and [, flowing through
R, and R, respectively is :

Options :
864351875, [, is in anticlockwise direction and L, is in clockwise direction

264351876, It is in clockwise direction and I2 is in anticlockwise direction

Both 1 . and [, are in anticlockwise direction
864351877. =

864351878. Both 1; and I, are in clockwise direction

Question Number : 17 Question Id : 864351287 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 864351288 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The pressure acting on a submarine is 3 x 10° Pa at a certain depth. If the depth is doubled,

the percentage increase in the pressure act:ing on the submarine would be :

sLume al atmos ric pressure 1s 1 x a density of waler 1s m ",g= ms -
(Assume th pheric p is 1 x 105 Pa density of is 10 kgm 3, g =10 ms 2

Options :

864351879.

864351880, -



864351881, -

864351882.

Question Number : 18 Question Id : 864351288 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
5 o
200
864351879.
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200
864351882.

Question Number : 19 Question Id : 864351289 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A conducting wire of length ‘I, area of cross-section A and electric resistivity p is connected
between the terminals of a battery. A potential difference V is developed between ils ends,

causing an electric current.

If the length of the wire of the same material is doubled and the area of cross-section is

halved, the resultant current would be :
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864351883.
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Question Number : 19 Question Id : 864351289 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 864351290 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
One main scale division of a vernier callipers is ‘a’ cm and nth division of the vernier scale

coincide with (n— 1]“‘ division of the main scale. The least count of the callipers in mm is :

'[n 1}3
864351887, © 101

Options :

‘10 na

864351888, (M~ D

10 a
864351889, I

10 a
n—1)

864351890.

Question Number : 20 Question Id : 864351290 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
8o} acudemiod #oellaidlen niwam miadalelae e} alalaum a cm oo aauderlwd

wasaleloa nt' alallaum iwom Weselelea (n-1) aflaflaamiaow] eman

UdldH@io eaigpmy. @oelaldlom ellg) o mm @ :

Options :

(n 1)
a

10N J

864351887.

‘10 na
(n—1)

864351888.

10 a
n

8643518809.



10 a

(n—1)

864351890.
Physics Section B

Section Id : 86435120
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435120
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 864351291 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A sinusoidal voltage of peak value 250 V is applied to a series LCR circuit, in which R=38 (),
L=24 mH and C=60 pF. The value of power dissipated at resonant condition is ‘x” kW.

The value of x to the nearest integer is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 864351291 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

250 V adeoocud] allewjas en) mulmjervoeiuwled eauoddesm R=8 ), L=24 mH,
C=60 pF agmilal aa eo) e LCR quddaygiad maddim). @pmimoa @pcumngiod
aljoomiadisim aloud x" kW @end.

aR0Ule @S alitemmvcalj@idd x &g alleiwoem

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 22 Question Id : 864351292 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider a [rame that is made up of two thin massless rods AB and AC as shown in the

I igure. A vertical force P of magnitude 100 N is appiied at pni_nt A of the frame.

Suppose the force is P resolved parallel to the arms AB and AC of the frame.

The magnitude of the resolved component along the arm AC is xN.

The value of x, to the nearest integer, is

|Given :  sin(35%)=0.573, cos(35%)=0.819
sin(110%)=0.939, cos(110°)= —0.342 ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 864351292 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



AB, AC agnmil @ondlgjomm cembidhid adamoemsiensissio afleomilad @oemlalldeainmm)
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.
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P agm enieieam AB, AC a0 eeddaslcaids allezlall agom) eoimid. AC dleyes
oag alledle ciaerilen aelo xN @@em. agpalle @SB aljdemmvoalaiad x o

alleiwoem’ o
|sin(35%)=0.573, cos(35%)=0.819
sin(110%=0.939, cos(110°) = — 0.342 ag)mm @MI@lee0m)]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 864351293 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



The first three spectral lines of H-atom in the Balmer series are given Ay Ao, Ay considering the

o

Bohr atomic model, the wave lengths of first and third spectral lines [i—ll are related by a
3/

factor of approximately ‘x" x10 L

The value of x, to the nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 864351293 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

H-eppoden sucdad aildmniea @acieem aim) Misiald(Sad coaldhUd Ay, A, A,

ag)MIBeHM caMId ADERIdlH CMIWM (aldhdNo mmMIidlenimMm). EDE|O@EM® o

DJMOBECEDDo MINAIBST CORLBRINS MDoWONEMHL) B [i—IJ ap@moeng ‘x’x 10!
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ag)om AJleIeWIS IMLealg) HISHNIML.

a@AUle @RSIE® alidemmcalioidd x e allai@oeny

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 864351294 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



The value of power dissipated across the zener diode (V,=15 V) connected in the circuit as
shown in the figure is x x 10 L watt.

Rg=35 (1

A
I‘lI |'| ||| 'II ) '.I

T
*
[e—

= R =900

'IZZTE V £

AAANN

22V

-
£l

The value of x, to the nearest integer, is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 864351294 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

alll@elad soemlafldlenim mdayigioa ammd avewodlm] &0 e (V, =15 V)
ladrudleaymm alcudlen aflel x x 10~ ! watt @pen.
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a@QCUlo @Siom alidem muoal@ied x e alleiosn

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 864351295 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
A ball of mass 10 kg moving with a velocity 1043 m s~ ! along X-axis, hits another ball of

mass 20 kg which is at rest. After collision, the first ball comes to rest and the second one
disintegrates into two equal pieces. One of the pieces starts moving along Y-axis at a speed
of 10 m/s. The second piece starts moving at a speed of 20 m/s at an angle 0 (degree) with
respect to the X-axis.

The configuration of pieces after collision is shown in the figure.

The value of 8 to the nearest integer is

After Collision

AY

L ]

» X axis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 864351295 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



10 kg momy ©a8 an) Al 1043 m s~ ! laleaimnemmons X-dlunald adadleancems 20 kg,
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After Collision
‘Y
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> X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 864351296 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Consider a 20 kg uniform circular disk of radius 0.2 m. It is pin supported at its center and
is al rest hliﬁaﬂ}-’. The disk is acted upon b}; a constant force F=20 N T_h_rDLIgh a massless

string wrapped around its plr_-riphlr_-r':i,r as shown in the figm:e.

F=20N

Suppose the disk makes n number of revolutions to attain an angular speed of 50 rad s~ L,

The value of n, to the nearest integer, is
|Given : In one complete revolution, the disk rotates by 6.28 rad]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 864351296 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



@0 0.2 m 988 20 kg afemom olddld wlmie avalem awiemla allmold]
allSlafloflelenjsm@oem. (alonocamlad dilvmeinmoen’. o9 Almissicaids aljglo

coadlgjomm miel cul F=20 N énlelo mabdsym). (allimoniad eoemilajldlenimeaioneal)
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50 rad s~ 1 oM@ eal®WOd2HEH0H00 ASlaiesl n @AM QIS 23N ag)om]
o> L0 e
a@AcUle @esiem aljdemmoeliid n e alleioery
(8] aljdem aldl@asmemiad auimie 6.28 rad maemo 6.algymm))

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 864351297 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the logic circuit shown in the figure, if input A and B are 0 to 1 respectively, the output at
Y would be ‘2’

The value of x is

Ae D"*
e

B




Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 864351297 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

afieemiiad emoerilafldleaim cenzls muddaygiad A o B eljo 88 Mallg @LOO(dhDo
0 @jo 1 @jo EpaemElad Y @ 988 695015 x @owidenio
apQUle @Rs)E alidemmicalidi@d x e allel eyery
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D=2
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Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 864351298 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the figure given, the electric current flowing through the 5 k{} resistor is ‘x’ mA.

3 ki)
5 II"-'J"!'“".".".'
5kl 31
—F‘lI‘'.'.l"l"."l'.l"."llll'-."III fl'-"".l“"r“‘l."
3 ki)
M o W
== |
21V, 1kQ

The value of x to the nearest integer is

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 864351298 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

eorldlaanim ali@mewiad 5 kQ aalenowailalens 691l e0eldh(Sld: &0 Y mA @pem.
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aACUle @RSIEM allibemn muoaiwimd x ef alleiwosm

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 864351299 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A fringe width of 6 mm was produced for two slits separated by 1 mm apart. The screen is
placed 10 m away. The wavelength of light used is ‘x’ nm.
The value of “x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 29 Question Id : 864351299 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

I mm @odeloslad osg nens qiigietd 6 mm (adlem! allwe pensodsi]l. mil@lda 10 m
@RHOLIWIET). Halewivila) idinamlan ®mrowenadeeyo ‘2 nm @e.
ofpCUle @RSiEm alidem quosydi@ ‘x* e alleiwosny

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 864351300 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The resistance | = l , where V=(50%2)V and I=(20=0.2)A. The percentage error in R is
|

‘X Y.

The value of ‘x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 864351300 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(ala@flemowe ;\=% @em. snalles V= (50+2)V po [=(20=02)A 9o @pem. R egg

]

oaom allted ‘x° % @em.
a@pcUle @Rsie® aljdemmoaleiad ¥ o alleioer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Chemistry Section A

Section Id : 86435121
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435121
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 864351301 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two stalements : one is labelled as Assertion A and the other is labelled as
Reason R :

Asserion A: The H-0O-H bond a_ngle in water molecule is 104.5%,

Reason R : The lone pair - lone pair repulsion of electrons is higher than the bond pair
- bond pair repulsion.

In the light of the above statements, choose the correct answer from the options given
below :

Options :

864351901 Both A and R are true, and R is the correct explanation of A

Both A and R are true, but R is not the correct explanation of A
864351902.

864351903, A is true but R is [alse

864351904, V18 false but R is true

Question Number : 31 Question Id : 864351301 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



RENE) (AITIMOMdUD MOeY 6105 Sl H6iMM). BNTiem &iaje A afmie aegonTiam

#0meMo R agymio @oswogaq|siadilaidleaimy

&oMyo A : zemmomaias H-O - H somioendlon esmoemaal 104.5°amem.

&omemoe R : ENEIHB(SOEMBEINS, CMUIMNE Hal@Ojo, GENINENE Snl@Oje MAmleles
B ot eM BN AN &:JSIMEINEM CRI0MIOHAIWO o CRINMINAI®O)o
magleles llédatemo.

@) HE1E HHBOSIOM ([alMmOUMealns sl ajomlo, ®oayY addosjemaua oo

AW HEMOO BIOEIETTNS B .

Options :
264351901, A @i R g0 mdloosm, A @es ndlwow afltedlersmasem R

A @io R wio ta@lwoem, amymmoad A aes tdlwow allvedlamemme) R
864351902. da o » OF) 4 e
864351903, A todl@oem)’ ag)modd R emgosm

A ©®R6M ag)mond R codleosm
864351904.

Question Number : 32 Question Id : 864351302 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
Industrial process Application
(a) Haber's process (i) HNO, synthesis
(b) Ostwald's process (i) Aluminium extraction
() Contact process (iii) INH, synthesis
(d) Hall-Heroult process (iv) H550; synthesis

Choose the correct answer from the options given below :
Options :
864351905, @), (B)-(), (c)-(ii), (d)-(iii)

864351906, @), (D)(1), ()-(iv), (d)ii)



264351907, (@), (b)-(iii), (c)-(iv), (d)-(1)

264351905, 21D, (b)-(iv), (c}-(1), (d)-(ii)

Question Number : 32 Question Id : 864351302 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
algld - 1 algld - 11 snaIO® ¢almjoals] G.aldde)d:.

alglds - 1 alglss - 11
cyuo@ld: (ad(@] e ed HalEWOWNEIBG
(a) GaneUCOM |l (i) HNO, wes aildanoemo

(b) eogiandadlon ikl (i) eereyddloc ecudalidlkenimm (olidshow
(c) @dmHoeMSIEhS |alidslw (iii) NH, @ies aildamnoemo
(d) an0®-0an800WRs i@ (iv) H,S0, o oldansemo

MY OIS |OTldlen)madia allom rdowow smmoo BIOEETNS 16 jds.

Options :
264351905, @), (B)-(1), (c)-(i), (d)-(ii1)

se351006. @D, B, (©)-(iv), (d)-(ii)

864351907, (@)-(it), (b)-(iii), (c)-(iv), (d)-(3)

264351908, (@)-(ii), (b)-(iv), (c)-(i), (d)-(ii)

Question Number : 33 Question Id : 864351303 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A group 15 element, which is a metal and forms a hydride with strongest reducing power

among group 15 hydrides. The element is :
Options :
864351909, B



864351910. B

864351911, 18

864351912. S

Question Number : 33 Question Id : 864351303 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
€LanmOW &0} 15-0c (W] mieldkoe ERMIANM eeanM olallddlenim). 15-0o ia]
@jeldb HOANEWAHEI® aggalic atiledlie mlenod niid:oneuarlwes g0 15-0o (o]
M)eldho afa ?

Options :

864351909, DL

864351910, ©

As
864351911.

864351912, 2P

Question Number : 34 Question Id : 864351304 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The process that involves the removal of sulphur from the ores is :
Options :

864351913. Reflitg

864351014, R03Sting

864351915, Smelting

864351916, caching



Question Number : 34 Question Id : 864351304 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ofldlad adlory mudand oileno ealQm (alld@hlooosn :
Options :
864351913, O1©©0Tlo0)

eooalotd
864351914. 5@

(roeymad Qe
864351915.

efl aflocd
s64351916, 22

Question Number : 35 Question Id : 864351305 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement 1 : H,0, can act as both oxidising and reducing agent in basic medium.
Statement 11 : In the hydrogen economy, the energy is transmitted in the form of
dihydrogen.
In the light of the above statements, choose the correct answer from the options given
below :
Options :
Both statement | and statement 1l are true

864351917.

864351918 Both statement I and statement 1l are [alse

864351919 Statement 1 is true butl statement 11 is false

Statement 1 is false bul statement 11 is true
864351920.

Question Number : 35 Question Id : 864351305 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



ENZ), (lMImMOCUMBID OO OIS ETIdleaMN,.

(mimocum I : seumiles mowmadlad H,0, olldd essmilasclewowie
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AWIR SEMHRe EIROETMSIEE .
Options :

864351917 SMMIAsTMIWio AeNES0MeTTW o ﬂg_lﬂ‘{ﬁ'mamm&[jb cRElaem

864351918. EMIAsHTMIWIe MENSImeNTT o (IS @OCLIMN LD 6YMAO6IT)

264351910, BTOTOED [IMIHOAUM REl@io RENBOBOEM (AINIFOAUM SBRIBOET

864351900, BOTOROEM (EIMIHOAUM H®RIe EENIWEOED ([INTMOUM LTI R0EN]

Question Number : 36 Question Id : 864351306 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 : Both CaC];,_-ErHZO and MgClz-SHzD Lmdﬁ-rgﬂ dehydratinn on heat:ing.

Statement 11 :  BeO is amphoteric whereas the oxides of other elements in the same group
are acidic.

In the light of the above statements, choose the correct answer from the options given

below :

Options :

264351921 Both statement I and statement 1l are true

864351922, Both statement I and statement 11 are false

864351923 Statement 1 is true but statement 11 is false

864351924 Statement 1 is false but statement 11 is true



Question Number : 36 Question Id : 864351306 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
N2 [l MIMOCLUMBUD @69 6105 sl dlser)my.

(adimocum 1 : aysosanemiodd CaCl,6H,0 allmje MgCl,-8H,0 allmje rildemelanemo

o eLlaa M)

(d@ocum 11 :BeO @mocanonsdls @pesmasiallo @em (ialloeal ag) mielHmEalns

BOBHONTV 0D @dmilalles @pen.

DiHEIOR! flMImoCLME816s anUsLa o Moy e@®osimmadiad oiom rdoeow somaoo

@ 0TI SLH6)) .
Options :

SMOLeEM@jo MA@ lMIMITUME:UD odlwoem’
864351921.

864351927 SBMIMe M@0 MeN0MeNTTMW 1o Lrumrmammoaao% 6)MEO6M

(=T R #1011 ()() mimorum Allo EENOAEHHT [ImoCLM W IMIET
864351923, o 30 L B4

864351024, DTODODD fl M@MOCM H®mRo AENBOMODEM (alMIMOCLM Codl@)moen.

Question Number : 37 Question Id : 864351307 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
MName of oxo acid Oxidation state of ‘I

a) Hypophosphorous acid (1) +5

( :
(b)  Orthophosphoric acid (i) +4
(c) Hypophosphoric acid () +3
(d) Orthophosphorous acid (iv) +2

(v) +1

Choose the correct answer from the options given below :

Options :



864351925 (@) (v), (b)-(iv), (c)-(ii), (d)-(iii)
864351926. (@)-(iv), (b)~(i), (c)-(ii), (d)-(iii)
rrsoyy @HEV), (B-(¥), (0, ()i

264351928, (A (¥), (B)-(1), (c)-(ii), (d)-(ii)

Question Number : 37 Question Id : 864351307 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
algld - 1, aigles - 11 encumanilad eaimionls] Galddeeid.

algld - 1 algls - 11
808810 apavlallen eald T’ @)es BI&MIlS0emonuma
(a) ©8aNEIEANMICAnOM) @amilold (i) +5

(b) S00CAMICANIMNICAAIOM) @pmilwy (i) +4
(c) eeanealdcanomicandCld @pmilay (i) +3
(d) eodemmoeanomicandOmy mamily  (iv) +2
v) +1
moey exdhosjmuldlenmaddia ol rndorw semro Eloaemms @ .

Options :

264351925, (@r (¥}, (B)-{iv), (c)-(i), (d)-(iii)
864351926, (@)(W), (b)-(1), (c)-(ii), (d)-(iii)

864351927 (@), (b)-(v), (¢)-(ii), (d)-(iii)

864351928, @) (V). (b)-(1), (€)-(ii), (d)-(iii)

Question Number : 38 Question Id : 864351308 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two stalement : one is labelled as Assertion A and the other is labelled as

Reason R :
Assertion A :  Size of Bk** ion is less than Np** ion.
Reason R : The above is a consequence of the lanthanoid contraction.

In the light of the above statements, choose the correct answer from the options given
below :
Options :

264351929, Both A and R are true and R is the correct explanation of A

Both A and R are true but R is not the correct explanation of A
864351930.

864351931, A is true but R is [alse

864351932, A is false but R is true

Question Number : 38 Question Id : 864351308 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
6B} [lMIMOUMdLUD @6 HEBISIOTdeniMmy aarilem &one A agMmie B6OEOATIOM

#H00eMo R agimio @rs@ogea|siomladlenimy

S0MYo A : Bk meewoemilan alellojodfln’ Np?t mrewoemlemsncd® cudlem
B OCUoEN.

&omemo R : Dbl bSO  HOMjo, BINMEMIW &HeMD(SIHUOMD &m)
@RNMNAnEIMOET).

@ bl S0 SO [l MIMOCLIMNE:816S LIS @5Iad, MO6Y 61osS | ovsidlen)mauaiiad ooy
Al HEM0e TIlOOETNS 1B
Options :

A @lo R @jo tadlwoem, A @es rdwow allvedld.nsmacem R
864351929.

864351930 A @jo R @) vod@oem, agmomd A @jes ndwow alldenemag) R

A vodloem agymoad R exmgoeny
864351931. A



864351932, A O®REM agymoad R vedlwosm

Question Number : 39 Question Id : 864351309 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two stalements :
Statement 1 :  The E° value for Ce?* /Ce’* is +1.74 V.
Statement 1l : Ce is more stable in Ce?* state than Ce® t state.

In the light of the above statements, choose the most appropriate answer from the options
given below :
Options :

Both statement 1 and statement 11 are correct
864351933.

864351934 Both statement | and statement Il are incorrect

864351935. Statement | is correct but statement 1l is incorrect

864351936, Statement 1 is incorrect bul statement 1 is correct

Question Number : 39 Question Id : 864351309 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ENE [IMIOCUME:ID MOSY 6dhoS ) mmldlean)m),

lmimocum 1: Cett/Ce?* o) E° aflar +1.74 V @pen.
(mimocum 11 : Ce @os Cel " eodmmiammemorumun, Ce’ ' swenod mudlomwgamoerT.

@iBEI08! [lMImoMEa1es anuslajomia @y e@osimmaaia alor rdwow somoo

@ ROETITISLH6) o
Options :

BIMIAOEM@0 MENZODOTM@o (o INSBIUMEHRD tddlwoen
864351933,

SB0MOLOEMWIo MENRIAOOEMWIC [IMIMmOCUMEU omQoeT
864351934,

864351935, SMORODD [l OB wdlwio PENSOLOED (alMIMICUM BMEIMOET



264351936, BOTO2OOD (IMNI@OAIM HOQIo AENAOOD (alNimoaM dl@)moem:

Question Number : 40 Question Id : 864351310 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The type of pollution that gets increased during the day time and in the presence of O, is:
Options :

Reducing smog
864351937.

Oxidising smog,
864351938.

864351939, ‘'cid rain

864351040, 0Pl warming

Question Number : 40 Question Id : 864351310 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
aldh@® mawomio, O, @ies mommlwyomlelje AUdaUlHaim® oR® ®oosiees

aelloilenemmoer ?
Options :

eoymies mienowd (rilemodmile:odleow menau)
864351937.

sodmileaanmiles’ Mmiemowd (Boamile:onlwow miemous)
864351938.

eorilcbnoalnd (@opaw
8643519309. (@ogm?)

EDELIEMmMInIMo
864351940.

Question Number : 41 Question Id : 864351311 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In chromotography technique, the purification of compound is independent of :

Options :



864351941, Sotubility of the compound

864351942, Mﬂhﬂ_tt}’ or flow of solvent system

Length ol the column or TLC plate
864351943.

864351944 Physical state of the pure compound

Question Number : 41 Question Id : 864351311 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
0 006Q0(0adl (aliglalld, eo) MowHmEOEiam taialle:oemo MY alOmmalwad

a@iom@oen) Eowylenooma ?
Options :

864351041, TOOSDOTIOQ aLIR®I0

2IRIMOCUMIN @REL)EIAD LIOQBETIONM 2916
864351942.

264351043, COBOTIOM @oag@I@l TLC eqydlom migo

(DIED MoWIHMETIONM Eow ka0
864351944.

Question Number : 42 Question Id : 864351312 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Among the following, the aromatic compounds are :

(A) —CH, (B)

(©) (D)
&) ®

Choose the correct answer from the following options :
Options :
364351945, () and (B) only

864351946, “¥) (B) and (C) only

B), (C) and (D) only
sea3s1047. 0 (O and (D) onls

(B) and (C) only
864351948. 4

Question Number : 42 Question Id : 864351312 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
®I6)9 63h0SOVH Bl M@, @ocnomoEld: Mo HMmETBW ol ?

(A) —CH, (B)

(©) (D)

O ®

Options :



z‘!'L, BiY{0)]
s64351045, 1) (B) 0@

(), (B), (C) moi®o
864351946.

, (C), (D) mo|m
864351947. (9).45)..(1)) @oimme

864351948, (B), (C) @o(®o

Question Number : 43 Question Id : 864351313 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is Lindlar catalyst ?
Options :

864351949, Partially deactivated palladised charcoal

864351950, Sodium and Liquid NH4

Cold dilute solution of Kh‘h‘lD4
864351951.

864351952, Zinc chloride and HCl

Question Number : 43 Question Id : 864351313 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
moe® maridlesimaiaic ellqdend sogelay ago ?
Options :

064351049 eoudlmon] (audmmmectat] #10.a) mg&mﬂmm eoldom alodesancd

264351950, Srvoasi@alio afley® NH, oo

264351051 PETAOD, emndafe) KMnO, aowl

864351950, mile eghoennwio HCI o



Question Number : 44 Question Id : 864351314 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H;C OH H5C Cl

20% H,PO,
3BEK

“ A {CI 1_:51:; CO K t gt

(Major Product)

(Major Product)

Cx

The products “A"” and “B” formed in above reactions are :

Options :
i I
B \ B —
864351953.
(|:|TH2 CH;
A— B —
864351954.
CH, l|:|.H2
864351955.
CH, CH;
864351956.

Question Number : 44 Question Id : 864351314 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

H,C  OH H,C

20% H3PO, “ (CHg)y COTK™ “B”
IR iwom eavaiomo (pJWom S®almo

D)HlE eS| (lUAEDHM@EGEIT ©eNBi:INM BEalmemrud “A” , “B” agilal :

Options :
I I
A — P
864351953.
(|f|.l-l2 CH;
QO -C
864351954.
CHy ﬁHz
A — B —
864351955.
CH, CH;
A = \ B ‘
864351956.

Question Number : 45 Question Id : 864351315 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

o~
i) DIBAL-H, Toluene, —78°C -
ii) HyOF " (Major Product)

The product “P” in the above reaction is :

Options :

C@AEHO
864351957.

O
864351958. |

OH

CHO

864351959.

COOH

ot

864351960.

Question Number : 45 Question Id : 864351315 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

o—_2
i) DIBAL-H, esogallad _?SGC; wpr
i) Hz0 ™ [alWom Omalmo

D)6l BB:S)Em cudemmemiea &@almmoe “P” ayma) :

Options :
@/\{11 O
864351957.
i

O-C-H
864351958.

OH

“/\ CHO
864351959.
COOH

:

864351960.



Question Number : 46 Question Id : 864351316 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assertion A :  Enol form of acetone [CH,COCH,] exists in < 0.1% quantity. However, the
enol form of acetyl acetone [CH,COCH,OCCH,] exists in approximately
15% quantity.

Reason R : Enol form of acetyl acetone is stabilized by intramolecular hydrogen bonding,

which is not pagsible in enol form of acetone.

Choose the correct statement :
Options :
864351961, both A and R are true and R is the correct explanation of A

264351962, Both A and R are true but R is not the correct explanation of A

264351963, A is true but R is false

264351964, A is false but R is true

Question Number : 46 Question Id : 864351316 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&MY A @omepoeian [CHyCOCH;] e9emotd dlalo 0.1% @ogallelje &)0ca)
mlamldenmiesl. afmom, apasp@  @emuegoemlen
[CH,COCH,OCCH;] ennemotd tlnlo afydenvte 15% eomose muaallad
crudlaile) iy eng’

&006mo R:  @paveend avaveqosmion euemomd mlalo M(SICmog]d|1rI0d
£6a0 ((WRM ceulenEleEales male® O ddadlenlm). ag)imond
@OIVEQIEMIED EDVEMIMRD Ml lElEh @ TLoWme).

Ao (o lrimonUm OIS J86)jdb :

Options :

cea3siop). @b Rgo tdlooen, A @es ndoow alludaoemacsm’ R

864351960 A @lo R o vaolwosm agymomd, A @es tdl@ow ojime’icaamsmmg R



364351963, LERGRIOG agmonh R OMA0

A amgoem agymoad R vadlwosm’
864351964.

Question Number : 47 Question Id : 864351317 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
NH, OH

NaNO,, HCl
273 -278 K

e X.f.’ K A” "
Ll

Major Product

In the above chemical reaction, intermediate “X” and reagent/condition “A" are :
Options :
NO,

& ; A- H,0/NaOH

864351965.

X - ;  A- H,0/A

864351966.



X- i A- H,O/NaOH
864351967.

NO,

) oA Hz':.jf.i

864351968.

Question Number : 47 Question Id : 864351317 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
NH, OH

NaNO,, HC]
273 -278 K

i rr
A
o7 xl’.’ e
-

lalWom e@almmo

@l eeh0SiTm momalcudemmediad emdalallog “X” |, dlewsad/aaimn “A”
ag)miau :

Options :
NO,

X- ;  A- H,O/NaOH

864351965.



N,Cl-

X - i A- HyO/A
864351966.
+
N,Cl—
X - i A- HyO/NaOH
864351967.
NO,
p o A- HyO/A
864351968.

Question Number : 48 Question Id : 864351318 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following reaction DOES NOT involve Hoffmann bromamide degradation ?

Options :
864351969.
i
CHz I E T CH; CHE - NHE
i) Bry, NaOH/H *
i) NH,/ A

I il

iii) LiAlH,/H,0



O
I

O/ Brs, NaOH
864351970.
O
A NH,
Cl
i) NH4, NaOH
ii) Bry, NaOH

864351971,
CN NH,

i) KOH, H,0
ii) Bry, NaOH
864351972.

Question Number : 48 Question Id : 864351318 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
MOBY OBIS;OMIAL0IMM (alcudammensalmd canoadmond epuiaamu’ allitewad

(UdEDMET O@aa|soem® ag® ?

Options :
864351969.
O
||
CHy —C—CHj CH; —NH,;
i) Bry, NaOH/H
i) NHy /A

-

iii) LiAlH,/H,0

864351970.



O
I

CH; —C—NH, — NH;>
Brs, NaOH G/
O
I NH,
Cl
i) NH3, NaOH
ii) Bry, NaOH

CN NH,

) KOH, H,0
i) Br,, NaOH

Question Number : 49 Question Id : 864351319 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

864351971.

864351972.

The [unctions of antihistamine are :

Options :
864351973, ‘-ntiallergic and Analgesic

Analgesic and antacid
864351974.

Antacid and antiallergic
864351975.

864351976. Antiallergic and antidepressant

Question Number : 49 Question Id : 864351319 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@ @ladlmigodien wdonsmsd



Options :

@Rl @peibedlanio, @omomamilenio
864351973.

@omademilenlo @ammomilob
864351974, g Jo @O so

@padomiiow moeldedles
864351975. B o @ 0

364351976, P08 Enetelang, @p@luipimapo

Question Number : 50 Question Id : 864351320 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which among the following pairs of Vitamins is stored in our body relatively for longer
duration ?

Options :

864351977, Thiamine and Ascorbic acid

264351978, Vitamin A and Vitamin D

264351979, Thiamine and Vitamin A

Ascorbic acid and Vitamin D
864351980.

Question Number : 50 Question Id : 864351320 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
MoeY® edos)amldlaenmMmaaia @eulsdlaaow] dldcaldmotlo Mmanes v lowmad
ool apecusaymm allgodlad ¢2209l age ?

Options :

mwdimlo @emieadenilse: mamilowjo
864351977.

s64351975, TRodlad A @jo afigodim D wje

m@dlimie aflgodiad A @jo
864351979.



@omieHotenilse epmilawie allqodlad D wjie

864351980.

Chemistry Section B
Section Id : 86435122
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435122
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 864351321 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 6.50 molal solution of KOH (aq.) has a density of 1.89 g cm ~*. The molarity of the solution

is mol dm >,

[Atomic masses : K:39.0 u; O :16.0 u; H : 1.0 u]

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 864351321 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

KOH (aq.) @ 6.50 emogoad eo@ail@ins quom® 1.89 g cm 2 @pen. 9 elo@ai@es

O @RI __mol dm 3 epaidlenio (HMISSIOM aljBdEm VoL@ H6)]d:)

(moepodle: moay : K:39.0 u; O:16.0u; H: 1.0 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 52 Question Id : 864351322 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
A certain element crystallises in a bee lattice of unit cell edge length 27A. If the same element
under the same conditions crystallises in the fec lattice, the edge length of the unit cell in A will
be . (Round off to the Nearest Integer).

[Assume each lattice point has a single atom]

[Assume 3 = 1.73, V2 =1.41]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 864351322 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

bee eloglmil@d (@lgeeaimd 02190 (al®elihadaliim) 60) lemid: alelhnamilon wienfq
emgloa sl dgo 27A eoen. @pe® Mlelsho, GRE® AUmuaGsld foo eloglmd
@ooeM (@lgueanany aalgumMmemela eealo wiedlg emglled asslen olao
A eowldles)o.

(0mOZSIOD allBENIVOE)@OSN]H )
(e0emo elElmy ealowladleljo 606N GRRMIOETT @OMIMITIEE) jdb )

{Q’T —1.73, V2 =141 ag)MilesBRem @om @0 rHe . )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 53 Question Id : 864351323 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

When Iight of wavc-lc-ngth 248 nm falls on a metal of threshold energy 3.0 eV, the de—Bmglie

wavelength of emitted electrons is A. (Round off to the Nearest Integer).

[Use : .3 =173, h=663x10"* Js
m,=91x10"3 kg ; c=3.0x108 ms~1 ; 1eV=1.6 x 10~ ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 864351323 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

248 nm ®OOWOOHEORI\MIEE (A ldhotoo, 3.0 eV (MEauod af)mdElwies B0} CRIanmIm
al@#9jeMIod allOMaana|sim meldesoemlan wl-eenogl moomenadaalo

A epafldes o.
(6mOFSIOD allDEMTVOGWOBE 1 )

[V3 =173, h=6.63x10"3 s m,=9.1x10" 3 kg ; c=3.0x10° ms ! ; 1eV=1.6 x 10~ 19]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 864351324 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction A(g) — B(g) at 495 K, AG"= — 9478 k] mol ",
If we start the reaction in a closed container at 495 K with 22 millimoles of A, the amount of

B in the equilibrium mixture is millimoles. (Round off to the Nearest Integer).
[R=8.314 T mol ! K™ !; In 10=2.303]

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 54 Question Id : 864351324 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

495 K @ A(g) — B(g) at 495 K agy™ (cudemmemiiond AG*= —9.478 k] mol ! @pen.
495 K @ eo) @prsal oowomldd 22 dlgfllemod A @@oe (wudemmo
@D OOE]H6) oMM, runmamocumunalesiemio dluy ool _ digflemocd

B een=zoidlesio
(@SSO al)BEN VOB OB )
[R=8.314 T mol~ ! K1 ; In 10=2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 864351325 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ABE is 10% dissociated in water to A2t and B~. The boiling point of a 10.0 molal aqueous
solution of AB, is ‘C. (Round off to the Nearest Integer).

[Given : Molal elevation constant of water K;,=0.5 K kg mol : boiling point of pure water
= 100°C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 864351325 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



meiowldd AB, allo@ 10% alleaisial A2*, B~ agomilcuwenzoanyomy. AB, alled
10.0 emo80@d @odsm elo@miwes alaciel ’C enodlenio.

(0mOogSYT™ ol )R roos i@ )

[maionilen emogodd ag)ellenuaund qudlmomo Ky=0.5 K kg mol 1,

tjabzeiomion dlaaiel = 100°C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 864351326 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two salls A,_,_'}( and MX have the same value of solubility product of 4.0 x 10 12 The ratio of

S (AX)
their molar solubilities i.e. m = . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 864351326 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ALX, MX agyoml eeng elcuemesginsm@io amvoelysnilellgl eploawasiay 4.0 x 1012 agom

S (A5X)
sen allei@oem. @ocuwes eaogod emoeymileldledt maiags mmiaiomo, ﬁ =

eoWfldlenio. (O®MOZSIOM aljdENIVo WIS )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText
Possible Answers :

100

Question Number : 57 Question Id : 864351327 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2MnO; + b GO +cH' — xMnZt + 1y CO» + 2z Hy0O
4 pAST] ¥ 2 2

[f the above equation is balanced with integer coefficients, the value of c is
(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 864351327 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2MnOj +bCy03~ +cHY = xMn2* +y CO, +zH,0

D&l @D OBHISIOBD TVDAUIE)0, ajBENIVoEHRD Dalcwoudla] Mieimo O.oIRi®OE, c WH'S

aller _ _ eoldee o
(©®OZSYOD atjBem Vo6 @Ok )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 864351328 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The decompnsition of formic acid on gnld surface follows f[irst order kinetics. If the rate

constant at 300 K is 1.0x 107 s~ ! and the activation energy E,=11.488 k] mol ", the rate
constant at 200 K is x1072 s~ 1, (Round off to the Nearest Integer).

(Given : R = 8314 Jmol "1 K™ })



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 864351328 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

mjderpariion soldmalaniad ealel eanodls @i aflsaislenimae’ aog) eodawd
pomm@laomlenen. 300 K old avaleq cog caoedayd 1.0x107 3 s~ ! go
@R H e agmdedl E,=11.488 k] mol ! go apeemslad, 200 K oidd @oallen eod
@0eTDEE %1077 s ! epwidenio.

(emogSSimD) aljdemnmuosy)

(R =8314]mol 1K)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 59 Question Id : 864351329 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The equivalents of eth}flenc- diamine required to replace the neutral Ligands from the

coordination sphere of the trans-complex of CoCl;4NH, is __. (Round off to the

Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 864351329 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



CoCl34NH; ag)m (Somdmi-caoog|dmilon camodaflemaumd miadl@dliees mysd
ellto o (@68 mElmundallenond ag® edlaioaiimd ag)dieflod avwodlim eaaiwimoe)?

(0®OgSI® alidEmIVoa) OB )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 864351330 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Complete combustion of 750 g of an organic compound provides 420 g of CO, and 210 g of
HZD. The percentage composition of carbon and hydrogen in organic compound is 15.3 and

respectively. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 864351330 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

750 g 988 80) B00WINld: Mowsmo aljden =eimanilel allewwnodjemiord 420 g
CO,, 210 g H,O alidlenimm). 001 80dwmonile Mowismaniaias @Hodelerlemaio

eoan(WROHM®io Galdmems’ HemUoMilaum @Od(dHhae  15.3,

ag)milcu@o i dlenjo.
(@S lJBENMVOE OB )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Mathematics Section A

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

86435123
5

Online
Mandatory
20

20

80

Yes

1
86435123
Yes

Question Number : 61 Question Id : 864351331 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i
Let A= [
- { { -

Options :
864351991 LNosolution

A u_nique solubion
864351992.

864351993.

864351994, Exactly two solutions

I[nfinitely many solutions

b4

i olx 8
; }, i = +/—1 - Then, the system of linear equations .""Lh{ ] = [ w has ;

y

Question Number : 61 Question Id : 864351331 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

f—

t 1.1

mmma%mrﬁ}m“ .
Options :

i=4J3 @D )M ). agmslad, A°

g
o4

£.2

agm!  coaflw



mm’tmamm’tg
864351991.

864351992, B0} al@lanomoe @O

864351993 @l AldlmeTEaw @PEME:o aldln0o06sRud

264351904, @0 ©6ME al@ano0EmRGd

Question Number : 62 Question Id : 864351332 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let the functions f: R — R and g : R — R be defined as :

S(x) and (%)= '

jx F2, x <0 3 =i
[xz, r=0 3x -2, =1

Then, the number of points in R where (fog) (x) is NOT differentiable is equal to :
Options :
864351995, U

864351996, 1

864351997, 2

864351998, 2

Question Number : 62 Question Id : 864351332 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
f:R—= R, g:R— Ragoml anesauon)dnid

flx)= g(x)= '

x+2 x<0 x3 r <1
%
x; x=0" 3x—2, x=1

agomismem mldoallaflalenimm].

ag)®I@ R @ 988 (fog) (¥) ag)m® uflaoom@aygimiid @osoom mllos4a8ies agepo :
Options :



864351995, U

864351996, 1

[

864351997.

864351998,

Question Number : 63 Question Id : 864351333 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

| X Z 42
Let P be a plane Ix + my + nz=0 containing the line, 1 2 T3 - If plane P

divides the line segment AB joining points A(—3, —6, 1) and B(2, 4, —3) in ratio k : 1 then

the value of k is equal to :
Options :
864351999, 2

8643511000, 19

8643511001, 2

8643511002, *

Question Number : 63 Question Id : 864351333 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1-x _y+4 _ z+2 -
- e ~ ag)im co6L HWeHHnIaaIM P agm ®elmosm Ix + my +nz=10

agin@’. P agom @elo A(-3, -6, 1), B(2, 4, -3) oau ecwomlanim AB agymm

cosuoelemuam® k : 1 ag)im @rottsrumwamicod suemulenim). agslad k @ies @mjeljo
ag)mm :

Options :

864351999, 2



8643511000, 19

8643511001, 3

8643511002, 4

Question Number : 64 Question Id : 864351334 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If for a > 0, the feet of perpendiculars from the points A(a, —2a, 3) and B(0, 4, 5) on the plane
Ix +my +nz=0 are points C(0, —a, — 1) and D respectively, then the length of line segment
CDis equal to :

Options :

V31

8643511003.

8643511004, V6O
8643511005, V41

=
8643511006. V35

Question Number : 64 Question Id : 864351334 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a > 0 agyomailed A(a, —2a, 3), B(0, 4, 5) agymil enllmieadl@d ol Ix + my + nz=0 agyom
MEIMTICeles (@I EloenlstRales alocenllmensoem @wnd@ae CO, —a, — 1), D
agymmial. ag@l@d, CD agim coeweusmuamiien olge agma :

Options :

8643511003, V21

8643511004, V6O

8643511005, V41

=
8643511006. V35



Question Number : 65 Question Id : 864351335 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider three observations a, b and c such that b=a +c. If the standard deviation of

at2 b+t+2 ctisd, then which of the following is true ?

Options :

8643511007, 0 — o(@”+c) —9d*
RO, S Ny

8643511008, O — (@ +c)+9d

] 2 2 2
8643511009, b~=a tc~+3d

3_ g2 9. g2
8643511010, D~ 2@ tcthd

Question Number : 65 Question Id : 864351335 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
b=atc @@® a, b, c e @M} WO HHEMTBWD BHEMHNOBN b, a+2, b+2, c+2

agmilcu@ies guomeandal allalleanmd @pem d ag@lad moay marildleamaoiia

codlewm ?

Options :

8643511007, 0 — (@~ +¢7) ~9d”
2_nqe2 2 1942

8643511008, D — 2@+ +9d

! R 2 3
8643511009, b-=a tc~+3d

3_np-24 24 42
8643511010, 0 — (@ tcm+dY

Question Number : 66 Question Id : 864351336 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



e

P! M Fa M M
Let the position vectors of two points P and Q be 3i — j + 2k and i + 2 — 4k,

respectively. Let R and S be two points such that the direction ratios of lines PR and Q5 are

(4, —1,2) and ( —2, 1, — 2), respectively. Let lines PR and QS intersect at T. If the

vector f}ﬂ, is perpendicular to both Fﬁ and as and the length of vector ﬂ 15\."5 units,
then the modulus of a position vector of A is :
Options :

8643511011. V5

8643511012, V171

1

N227

8643511013.

8643511014. i

Question Number : 66 Question Id : 864351336 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

P, Q agoml enfim3j@#0816S ealomiladid 60U SOlH806M @LNI(dhMo 3i ? - 2k,
1 1 2?‘ 1k agmlcl. R, S agaml eeng enflmeoaldd, PR, QS ag)m] cosussles
"WQOHHMD EGOCaHO’ ag) M@ @LOdhMO (4, — 1, 2), (-2, 1, ~2) agyrici@odiym). PR, QS
ag)0™) coaue:d T i@ &)SImISIML. TA ag)im OQISSd PR, QS ag)miaiaiss eloenialo
TA agm ealssdlon oflge 5 @enigio @p@od A agm ealomilaud eaessdled

CMOWIRITY oM@ :

Options :

8643511011. V5

8643511012, V171



227

8643511013.

8643511014. 2

Question Number : 67 Question Id : 864351337 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A A = A A
Let a vector o 4 B be obtained by rotating the vector /3 ; ] by an angle 45” about the
origin in counterclockwise direction in the first quadrant. Then the area of triangle having

verlices («, 3), (0, ) and (0, 0) is equal to :
Options :

RO

8643511015.

=

8643511016.

e

8643511017.

1
8643511018. V2

Question Number : 67 Question Id : 864351337 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
epwonemlimialem @esltunomadssd] @da) alocmmlad allaidle caslaon dlueaiad

A

N ; )M &USSD 45" 306nI@d @ildl.gjeq jotd Higlwmoa o i |5; af)(mn 6XUE:SD.

ag) @@ (a, B), (0, B). (0, 0) B WidatsmemER0W (@lesHoemadion aloqlgal agme :

Options :

R

8643511015.

8643511016, 1



8643511017. ~

8643511018. V2

Question Number : 68 Question Id : 864351338 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of roots of the equation,

{81]5“1:1 | {S]JL'[L‘\:I — 130

in the interval [0, 7] is equal to :
Options :

I3

8643511019.

a3

8643511020.

8643511021.

o0

8643511022.

Question Number : 68 Question Id : 864351338 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[0, 7] agom sDserus @i {gljsin:l‘ | {gnmzr =30 ag)im MAARHOTION 0JS5IHRIOS

YR -
Options :

[

8643511019.

8643511020, 3

8643511021.

o

8643511022.



Question Number : 69 Question Id : 864351339 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A pack of cards has one card m‘ﬂ;sing. Two cards are drawn ra:r‘ujln:rml:.;r and are found to be

spades. The probability that the missing card is not a spade, is :

Options :
)
475
8643511023, 12
52

8643511024, 867

8643511025.

8643511026.

Question Number : 69 Question Id : 864351339 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
B0 Odhg HIdHDessulad s8] Hodw’ madsacwl. oomdwaswl agsiem 2

0D EIT 2 ag)emailo ‘Miealal ' @DdhiM). afEslad MaHsmo@ @odal’ ‘migalal’ *

BB BBNHOMIBE TLOUN® afmE) :

Options :
2
405
8643511023, +2°
52

8643511024, 867

8643511025, U

TRy

8643511026.



Question Number : 70 Question Id : 864351340 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The range of acR for which the function

1 A

o : %Y ol

f(x)=(4a — 3) (x +log.5) + 2(a ~ 7) cot [; sin” ;J 2n, neN has critical points,
is :
Options :
8643511027, 117 %)

= %=
8643511028.

-5

3

8643511029. :

':.I'
8643511030. SR

Question Number : 70 Question Id : 864351340 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- - Er:'r.‘ :
f(x)=(4a - 3) (x + log,5) + 2(a — 7) cot [;J SN l;} x #2nm, neN af)Mm aleSaHm

()

@ldleo calodq) peememlad acR @ Moo (range) ag)oma :
Options :

[1, =)
8643511027.

(— = —1]
8643511028.
5]
5
8643511029. -

8643511030. (=3, 1)



Question Number : 71 Question Id : 864351341 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If n is the number of irrational terms in the expansion of (4% | 5% ]m , then (n — 1) is divisible
by :

Options :

8643511031. °

oo

8643511032.

2
8643511033.

=

8643511034,

Question Number : 71 Question Id : 864351341 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(3% 4 5/8 ]m ag)Mm lal@TOal B00HM@ EDW alBBIOS af)eR@oeT ‘n’ agf):ldd

(n—1) af)MDmLOBENE aO@IHNHOOLLMND
Options :

8643511031, -V

8643511032, 8

26
8643511033.

™~y

8643511034,

Question Number : 72 Question Id : 864351342 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let [x] denote greatest integer less than or equal to x. If for neN,

In
: Fan _ -]
(E—x+ 27} —Eaj,,t-
j=0

&3

7
:)_- az; +4 >_. a34+1 is equal to:
=0 =0

, then

Options :

8643511035. <

8643511036, T

-3

8643511037.

8643511038, 1

Question Number : 72 Question Id : 864351342 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[x] @ x -@ HIOMME®O @Rl ERW WA aljbeprioaliwosm. neN @,

Tan 3n-1
34n L ] |:?i| |: 2 ]
I-x+2°) = %}af—‘f‘ @)y ag@Iah, 2 ay T4 D, A agmad:
i =0 j=0
Options :
1
8643511035, 2"

8643511036, T

]

8643511037.

8643511038, 1

Question Number : 73 Question Id : 864351343 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
Which of the following Boolean expression is a tautology ?

Options :

AL W W
8643511039. 'ILE )V eV

8643511040, P DV (P = 1)
it AlD —
8643511041, PV AP —9)

3 A — -
8643511042, P D= P =9

Question Number : 73 Question Id : 864351343 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
M6 ehos|mlclenmMmauaid esoespazd] apw enyslod mjalo af@l ?

Options :

8643511039. PAadvpvy

8643511040, P A DV (P =)

M AD —
8643511041, PV AP —9)

8643511042, P D= (P~

Question Number : 74 Question Id : 864351344 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

k T -
- — b 2 Fa X
Let Sk = 2 tan {jgrq A2 |- Then k'!_’: Sk is equal to :

Options :

e

8643511043.



) (3
cot = |
8643511044. i

8643511045.

8643511046. t

Question Number : 74 Question Id : 864351344 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
. 3

r .
S, = Y tan ! b 1. lim Sy >
i S2rH 31| agmodslmy. ag@dl@d, M Ck agem
Wi '

r=1 l 32

Options :

m

)
8643511043. =

13

cot ' l:
8643511044. N

, i
8643511045. =

tan"! (3)
8643511046.

Question Number : 75 Question Id : 864351345 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The number of elements in the set {xeR : (x| —3) x + 4/=6] is equal to :

Options :

(o=

8643511047.

2

8643511048.

43

8643511049.



8643511050, *

Question Number : 75 Question Id : 864351345 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
{xeR : (x| 3) |x+4/=6} ag)0m WemETEOL BRONEBRINS ag)sMo :

Options :

i

8643511047.

()

8643511048.

L

8643511049.

8643511050, *

Question Number : 76 Question Id : 864351346 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
e | "y
If for xe | 0, %J log, sinx +log,,cosx = — 1 and log,,(sinx + cosx) = E{Iogm n—1), n >0,

then the value of n is equal to :

Options :

8643511051. 9

=
o

8643511052.

16
8643511053.

f-
=]

8643511054.

Question Number : 76 Question Id : 864351346 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



] ' _1
Xe [[], %J agymailad, log,,sinx +log,,cosx= —1, log,,(sinx + cosx) = E{Ingm n-1), n>0

LY

@D6OEMEITD, n agMmIOM Bjelo |
Options :

8643511051. 4

8643511052, 12

8643511053. 16

8643511054, 20

Question Number : 77 Question Id : 864351347 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d U
If y=y(x) is the solution of the differential equation, :ii b 2ytany = sinx, y{ ry | = (0, then
% é

the maximum value of the function y(x) over R is equal to:
Options :
8643511055. 8

R =

8643511056.

8643511057. 4

1
8643511058,

Question Number : 77 Question Id : 864351347 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



E:_y }2ytany = sinx ag)(M AUla0OMat)@d MAIdS)EWIOM al@lanoomoen y=y(x)
ax

ag) o). y[%] 0 @My ag@lad, R ad y(x) ag)im anesaym M@0 afRle
LR

WO Mo ag)Mnm :

Options :

8643511055, 8

I»J||—"

8643511056.

8643511057. ¢
a
8643511058, S

Question Number : 78 Question Id : 864351348 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The locus of the midpoints of the chord of the circle, 22+ y>=25 which is tangent to the

. )
X If :
hyperbola, — — — =1 is:
YP g 16

Options :
24y 2 - 0x2 + 14412 =0
8643511059, & T¥)T9a y

122 - 0x2 162 =0
8643511060. { Y } Y

2y 92 4 162 =0
8643511061.{ J } J

8643511062, (% 1Y) 1627 +9y==0

Question Number : 78 Question Id : 864351348 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
" ;
Bl 1 " 7 73

% % =1 ag)M ©9a0q|dEMI0aHs) HMISIUEI® x*+y =25 ag)im QjEmE oAl
emoemiiend awimliozialan MemIdnald®m agma)
Options :

24?2 927 + 144y =0
8643511059, & 1Y) J

Xy -9y 162 =0
8643511060, & 1Y) ~

2y - 92 16yt =0
8643511061.{ ¥) Y

R IO L AP, B
8643511062, ¥ T¥) 16X+ =0

Question Number : 79 Question Id : 864351349 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[f the three normals drawn to the parabola, yzzlr pass through the point (a, 0) a=0, then
‘a’” must be greater than :

Options :

8643511063, 1

8643511064. 1
1
.
8643511065, =
1
2
8643511066. =

Question Number : 79 Question Id : 864351349 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



y2=2x af)Mm aleoceuosilealds Uo@@nim @i emodmelletd (a, 0) a=0 agm
endimjallallns &S ealod Mmensl@ ‘a’ afma oIl of® MlEWEnIUd @)
oM’ oilaanma ?

Options :

8643511063, 1

8643511064.

b | =

8643511065.

Bd | =

8643511066.

Question Number : 80 Question Id : 864351350 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A

; ([ |z} + 11
Let a complex number z, z'= 1, satisty log ‘{—1 < 2. Then, the largest value of
2 /

z| is equal to _

Options :

(9]

8643511067.

o

8643511068.

1

8643511069.

)

8643511070.

Question Number : 80 Question Id : 864351350 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



. zl 4+ 11 ’
ziz1 e ruy el z o@ﬂ‘t‘i e&am%c&»m ETLJOE}_[(E lng 1 {— < 2 ng}rm:m
: 2

= \zi=1)7 )
@roUSledlaaimyecuslia, [zl -of madaoniirm sedmm mjele '
Options :
8643511067. 2
8643511068, ©
8643511069, /
8643511070, B
Mathematics Section B
Section Id : 86435124
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435124
Question Shuffling Allowed : Yes
Question Number : 81 Question Id : 864351351 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
— 2 ¥1
Let z and w be two complex numbers such that w = zT — 2z + 2, 3 ‘ =1 and Re (w)
=i

has minimum value. Then, the minimum value of neN for which w" is real, is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

100

Question Number : 81 Question Id : 864351351 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Z+1
% =
Re (w) agmmafilm} #1060 ajeljo @R6m. ag)@sldd, w" agmM® aljdenmo@fl neN of

w=2z -2z +2, =1 00U MOWMIW Gdblog|dhNl (MVo|hAeM z, w ag)milal.

M@BHICUIOM EbJOST MILNMOET

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 864351352 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
8

Let f: R — R be a continuous function such that flx) + flx +1)=2, forall xeR. If [; = J‘f{x]d:r
0

3

and I, = Ilf{x}dr , then the value of [, + 21, is equal to
—1

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 864351352 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

v xeR, f(x)+f(x+1)=2 @p® HnEIMQIM anedaumoem [ : R — R agma,
; ) .
Iy = If{.r}::h‘, I, = _[f{xjdx, @p@oad, 1, +2L, agma @Dem.
0 -1
Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 83 Question Id : 864351353 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

X
If the normal to the curve y(x)= _[{212 15t + 10) dt at a point (a, b) is parallel to the line
0

x+3y= -5, a > 1, then the value of a+6b is equal to ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 864351353 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(a, b) agyomn endlozjall@ y(x) = -I{Etz 15t +10) dt agmn UBmO]eeEs a8 emodmm
0

x+3y=-5 a>1 af)(Mm GoeIHE MVAOMEMoeT. af@slad, |a+6b| agmalen mjelo
_ @dh)m].

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 864351354 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

X e
: ac bcosx + ce ;

If lim _ =2, thena+b+tcis equal to
1—0 xsinx s

==
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Consider an arithmetic series and a geometric series having four initial terms from the set
{11, 8, 21, 16, 26, 32, 4}. If the last terms of these series are the maximum possible four digit
numbers, then the number of common terms in these two series is equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 85 Question Id : 864351355 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

{11, 8, 21, 16, 26, 32, 4} ag)im WEM@TIHLI TVoEUE D, EDE) ML alBEBUD ADHEMEE
aflwedldd en) maome euyemiwje e&oenSlde ewyemiio aldlnemlenid. &
GUYEMIWIONS @RCLIMNOM alB6IR0D MoUMOW afAOio HWHNT MILIEE Mo6L| EREEME:IED,
B GBI 0D HAIdMOIOWIBR AIGEIRRIOS af)§Mo __ @Derm.

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 864351356 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

-

30 20 56 2 7 W=
= Al A 1 4 Iﬁ
Let P=1] 90 140 112|and A = | i1 I | where w = ey and I, be the
120 60 14 0 —w —wtl )

identity matrix of order 3. If the determinant of the matrix (I 1:—15-‘—!; ]2 is aw?, then the

value of « is equal to
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Letf: (0, 2) = R be defined as I_f(;}:;,jgp_{] | t"m[Tl }

oo BN 2 i
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The total number of 3 x 3 matrices A having entries from the set {0, 1, 2, 3} such that the sum

of all the diagonal entries of AAT is 9, is equal to
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Let ABCD be a square of side of unit length. Let a circle C, centered at A with unit radius is
drawn. Another circle C: which touches CI and the lines AD and AB are tangent lo it, is
also drawn. Let a tangent line from the point C to the circle Cz meet the side AB at E. If the

length of EB is .u F A3 [, where o,  are integers, then a + 3 is equal to
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di1
Let the curve y=y(x) be the solution of the differential equation, d_i: Ax + 1), If the

numerical value of area bounded by the curve y=1y(x) and x-axis is , then the value of

(e

y(1) is equal to
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